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from question #4 is shown. Draw

f(x) when f(1) = —2 that you found in

2y
question #4 on the slope field.

_ 4x3-1

dy
dx

5. The slope field of
the particular solution y



= —2xy from question #6 is

dy
dx

7. The slope field of
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shown below. Draw the particular solution y
f(x) when f(—1) = 1 that you found in question

/
VN NN
szl 0 [T VAN NN NN
—+—t+—t+—t+—+—t+t+t+—t+t++t+t+t+t+++++tt"t
ONNNANNNN\NT\N N\ | |[P/ /YN
. N NN NN D A Do s
m N N N Y VD P s
m ///// ~—mNeNN S P I ottt b e e
L —~—=~\\ D T S
Qo 0 e ——— e —— —~~~\ J e
p /////// ~=<=~x\ S — — —
.IO. iiiiiii ~~ N\ AN_\\\\ \\\\\\\
v U [ I S
o —_~N | S
m llllllllll ~N | Sr———— =
s e ———— SN . S
o
Ne)
BES

=-2xy f(=1)=1

dy
dx

6.

Answers to 7.7 CA #2

y=-—Vx*—x+4

3.

F~~N\
N Y

s o=
e —

2. y=—In(—x?+ 5x — 5)

e
(mx)+1

—Cos
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